D20000 DOOR  CLOSER

LORRENHAUS

| SURFACE MOUNTED CLOSER metric (inch) system
| |
==t % 3! STANDARD INSTALLATION
— o .
S S ¢ - Closer mounted on door on pull side Arm  shoe
L9 o 5 Arm screw and lockwasher
% >g @ 222 44 2 holes for #14 wood
- K . ﬂ—
o = | (83/+) (13/#) o M6X1.0(1/4X20) Machite screws
23 4 = shat 29 e
S @ @ o My =
=. — o - N
S o [To) I
© o - — A ‘!.:
Q e % - S
(@} (= — =
S < = N
v TN =4 = —'o‘l | — '
< O — 7
Sow= S = o = B 215.5 50 50 \
@ @)
@ =- = > 8 3 T (81/2) (1sm)  (1syar) Cover cap ———
w Q > = D T : 4-#10 d
O «« ﬁ Speed regulotmg screw woo .
ﬁ % w toward hinge edge of door or M5X08(10X40) Machine screws
b © -
=4 ® O
- o -0 RIGHT HAND DOOR shown,Same
2 @ H dimensions apply for left hand door
% 2 = measured from hinge edge.
—+ a U
> -
a ¢ E ﬁ %
POSITION OF ARMS AND INDEX SETTINGS TURN OVER FOOT ILLUSTRATED BELOW
—|“ “|_ FOR MORE POWER
| T T 1
O O _
@\(’(J g
Main arm Locknut Locknut Main arm P 91 5
"@ | 2
Forearm Forearm I : L
index mark Elbow Elbow index mark — =
Right hand door. Use index mark 4 Left hand door. Use index mark 1 STANDARD POSITION
| TOP JAMB INSTALLATION
Closer mounted on top jamb on push side of door.
Reveals of 70(23/4") to 127(5") requires long top jamb forearms.
4-#10 wood
or M5X0.8(10X40) Machine screws
2155 30 50 Cover cap
o ¢ RN N y
L % ;& NS ©
a o a ! —
=] _ ! T Max
S = 3 I = T 717 Back Check - = %2 70 (23/#)
[Ye) —
g = & 1 () (O _
(=) éz §: ’/ "ll ‘_>E —
v o 3 Shaft 3l 2 © 7’ ,
S § 3 Speed reguloting screw B & ~ ]
v, 3 & | toward hinge edge of door Arm screw
& o 2 i 222 44 | 2 holes for #14 wood ond lockwasher
é i (89#) (a)  OF M6X1.0(1/4X20) Machine screws Arm shoe
/J.\ 5 |
[4n S ]
\\M ‘@' LEFT HAND DOOR shown,Same
| dimensions apply for right hand door
measured from hinge edge.
POSITION OF ARMS AND INDEX SETTINGS
Q fe)
| : f
~ / A N
) | -
Locknut Main arm J
Forearm
index mark Elbow index mark
Left hand door. Use index mark 1 Right hand door. Use index mark 4




PARALLEL ARM INSTALLACTION

Closer mounted on door on pull side

Parallel Bracket

(Option) \

~
©

oy

3 Machine Screws

&

|_ _______________________________ — A
f
) 2-M5X0.8 Shaft

O/ QL 1©
%Jck Check

(137¢) 45

7
50 50 | 4-#10 wood or
\ (131/327) | (131/327)  M5X0.8(10X40) Machine screws -

for opening to 160"—64(2 1/2")

for opening to 160'—141(59/16")

/

| I
' ®
Speed requlating screw
away from hinge edge of door
@
\—

LEFT HAND DOOR shown,Same
dimensions apply for right hand door
measured from hinge edge.

il

g
1) 44.5

Arm Screw and
Lockwasher
/

Using a wrench on the square shaft on bottom
of closer, rotate shaft approximately 45

1 /
7

@ Adjust Main 2 or 3
from parallel with door

toward hinge edge of door, Hold and place
main arm on shaft on top of closer at proper in—
dex mark as illustrated. FOR LEFT HAND

DOOR NO. 3 (illustration "A”). FOR RIGHT

4 holes for #14 wood or
M6X1.0(1/4X20) machine screws }.=|\::D

Parallel Bracket

HAND DOOR NO. 2 (illustration "B”). Tighten
arm screw with lockwasher securely.

1

POSITION OF ARMS AND INDEX SETTINGS

TN ©)

il

Index Mark

(o

Forearm Left hand door,
use index mark 3

ILLUSTRATION "A”

© _ O
| D Index Mark|

A

Right hand door, Forearm
use index mark 2

ILLUSTRATION “B”

CHART FOR HAND OF DOOR

] ,/’/>\
Pull Side of DOOE/ N\
- \

,// ,/’
/ /
| e -

I

£
~.

Pull Side of Door

/ ~. .
~. 0~

~. ~_

This is a LEFT HAND DOOR  This is a RIGHT HAND DO

p
N - /|
Push Side of Door Push Side of Door

SPRING POWER & VALVE ADJUSTMENT

A. CLOSING RANGE 180'-1%&
B. LATCHING RANGE 15'-0°
C. BACKCHECK RANGE 70°-160"

(see table below)

SLOWER
@
\/
FASTER
CLOSING VALVE SCREW (180°'—15")
LATCHING VALVE SCREW (15'-07)
ADJUSTABLE BACKCHECK VALVE SCREW
(standard). CLOCKWISE TURNS INCREASE THE
CUSHIONING AFFECT, COUNTERCLOCKWISE
TURNS DECREASE THE CUSHIONING AFFECT.
SPINDLE CAP
DRESS PLATE HOLDER-INSERTED IN ONE OF THE
@ UNUSED FIXING HOLES
POWER ADJUSTMENT SCREW, USE 4mm HEXAGON WRENCH PROVIDED CLOCKWISE TURNS
DECREASE INCREASE  |NCREASE THE CLOSING FORCE, COUNTERCLOCKWISE TURNS DECREASE THE CLOSING FORCE

SIZE NO.OF TURNS DIRECTION
2 6 COUNTERCLOCKWISE
3 0 FACTORY FRESET
4 5 CLOCKWISE
5 9 CLOCKWISE

CUT OFF HERE FOR TEMPLATE

Arrow Mark

Top jamb of frame

set to top of door J

[T]

o
=
o
¢ e
o '€
o @
s 2
= O
o S ¢
o
2 Y v ©
O @+ =
T 8 9
2 3 o
o g ©°
o <€ u= .
L © © ©o
=
o c
< =
= ©
o =
3 oy
—_
L
o
=] ©
S = &
%]
5 8
o
> @ B=
< o = =
g 2 KER
== 2 5 %= 5 o
- O > N 4 om
/4\
\i/
[}
2 =
2 » v O
g g = W
5§ & 3
2 =%
T o=
=
s 5 ©°
=
5 T &
=  +~ O
g 5 3
e - <
- = O T
)
=2
g 3 m
<
< S \.!,/
2 )
(V2] =
o
Ip]




